f(x)

f(X)=P(X =x) X X
0.25 x=0
05 =1

F(x) = X

025 x=2
0

X ( )

0 1 2

f(0)>0 Yf(x)=1

X

f(x)

oo (3 2]
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(b)

‘CDH

> f(x)= Zp(x X)=—2p =
x=1 1-—
6
f(x)
S
|
1 2 3 4 5 ...
(p.d.f.) f(x)

f(x)>0 j_“;f(x) dx=1

X
p.d.f. f(x)

b
P(a< X sb):ja f(x) dx
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P(X=a)=0
P(a< X <b)=P(a< X <b)
=P(a<X<h)=P(a< X<b)

X

k 0<x<4 kisa
f(x)=
0 othew

'[“;f(x) dx=1 k

P(—2<X£1):Llf(x) dx

P(X >3)=1— j f(x) dx= j £(x) dx

P(X<M)=b b
b=05 M
(8+X) X
3(4—x?)
F(X) = —32 —2<X<2

(1)
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9.2

(

o(t) =

o(t) =

1-9(0)  (¢(10)

2.

o(a)

D> (X

X<t

jfw £ (x) dx

10
10

a

P(X<a)=¢(a) P(a<X<b)=d¢(b)-¢(a)

P(X >a)=1-¢(a)

X = $200 p=001
px = ($200)-(0.01) = $2

E(X) =2 px
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E(X)=I:xf(x) dx )

E[9(X)]=X pg(X)

E[g00)]=[" f(g(x) dx



E(X) (=

W) E[(X-w?] (=Var(X)= o)

m c’

0.4
$120
0.62
$5000 0.38 $8000
E(X) = n

Var(X) = ¢?

u = $(5 000) (0.62) + $(-8000) (0.38) = $60
o° = (5000 — 60) (0.62) + (8000 - 60)* (0.38)

n

$a
$5
$30
$X

1. E(X)=0
( $a) ?
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2. a=1 E(X) Var(X)

E(X) <0

E(Y) $Y

E(X)  Var(X)

X f(x)

f(X):{glx(b—x) 0< xi;e

0.625
a b

r f(x) dx=1 j x f (x) dx = 0.625

0.8

1
P=1-¢(0.8) = jo'g f(x) dx

E[ag(X)+b]=aE[g(X)]+b

Var(aX +b) = a?Var(X) a b

E[9(X)+h(X)]=E[g(X)]+E[h(X)]
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9.3

@

Var(X) = E(x2)-[E(X)]” = E(Xx?) -2

Z=2X?-3X+5 X
1) o’ E(2)

E(Z) = E(2X2?-3X +5)
= E(2X?)- E(3X) + E(5)
= 2(},t2+c52)—3},t+5

P(r successes) =C/'p'q""

099 n

n
1- (Ej >0.99
6

Pk:P( r
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S|

(b)
B(np)

E(X)=np
Var(X) =npq

p=g=0.5

(©

0.7
0.2

C5(0.7)%(0.3)

P(

E(X)(=4p) Var(X)(=4p(l-p))
P(X=1)( =C'p'-p)®)
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ECY)  Va(Y)

2. 3

5%

@ 10
(i)
(if)
(iii)

(b) 10

X

P(X = 20) = 10(0.95)°(0.05)
P(X = 10) = 1 — 10(095)°%(0.05)
E(X)  Va(X)

10%

095 n
(0.9)"< 1-0.95 n=10 P
p

(b)

) =(0.9)° =



8 5
Csp’(L- p)°
10
(@ p.df. f(x)
_ 1 u) }
f(x)= G\/_ exp{ (
E(X)=p Var(X) =c?
1
2.
u
X=p
9 U 52
(b) U o
z XM
(¢)
E2)=0 Va(2=1
Pla< X <b)= P(a_u JXTH b_“j
(¢) (0} (¢)
=P(z1<Z<2)
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X ~ N (n, 0%)

NN

?

a |0 b
Z~N(0 1)
| > Z
Z; {0z
P(0<Z<z)
Z~N(01)
|o 2, >
Z
( z = 3.59 )
X N(8, 4)
P(6< X <9) = 6-8_ X_8<9;8j

P
P(-1< X <0.5)
P(0<Z<1)+P(0<Z<0.5)
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(©

P(X>9)=P(Z>05)=05-P(0<Z<0.5)

P(X <K) = 0.87

Z

10%
9502 20% 110Q

1) c

P(X <95) = P(Z < 95_“):0.1
(e)

P(X >110) = P(Z > 110_“) -0.2
o

X
1) 1 X
M ( ) X
3 8<X<10
M=<-1 X<8
-5 X>10
E(M)

E(M) =80(10—p) —44(8—n) -5

02 = [ e at
[
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(d)

K E(M) n
1.25L
15% 1.25L
10% 1.30L
[ c
X L ( )
C =36+ 62X+ 5x° X
E(C)
E(C) =36+ 62u+5(p? +6?)
20 000 20 000E(C)
n
np - npq
400
X X B(400, 0.5)
N(200, 100)
P195< X <210) = p(194-i; 200 5. 210?6 200)

P(195< X <210) # P(195< X < 210)

58



9.5

X Y
X ~ N o) Y ~ N(p o)
aX+bY~ N(au1+bu2, a2012+b2022) a b
n
259 29
30g 49
142 ¢
AcCm
0.63 cm? B cm
5cm 1.42 cn??
X =2A-B :

2¢cm
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